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QUESTION 1

What is the "sweet spot” for Industry 4.0?

A. The "sweet spot" for industry 4.0 is the intersection of URLLC, eMBB and mMTC.
B. The "sweet spot" for industry 4.0 is a double-digit revenue growth.

C. The "sweet spot" for industry 4.0 is a deployment strategy for delivering the required capacity and coverage for
industrials.

D. The "sweet spot" for industry 4.0 is the intersection of operational, information and communications technologies.

Correct Answer: D

QUESTION 2

Which of the following defines a vertical Network Slice?

A. When it serves a given customer for a specific purpose, such as a national energy network.
B. When it cross all the network layers from the radio up to the core.

C. When it serves a given common purpose, for a use case with a defined QoS (eg a use case in transportation, in
energy).

D. When it operates on the same layer of the ISO/OSI model.
Correct Answer: A

Reference: https://www.gsma.com/futurenetworks/wp-content/uploads/2018/06/Network-Slicing-UseCase-
Requirements-_-FInal-.pdf

QUESTION 3

What is the role of 5G in meeting the automation needs of Industry 4.0?

A. 5G plays a minor role on Industry 4.0 because the requirements are mainly focused on mMTC and IoT.

B. 5G requirements for Industry 4.0 are mainly focused on Ultra high bandwidth needs.

C. 5G plays an important role on Industry 4.0 because it enables the cloud automation with baremetal platforms.

D. 5G requirements for Industry 4.0 are mainly focused on ultra low latency characteristics but also from high throughput
and massive connectivity.

Correct Answer: D

QUESTION 4
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A company is planning to offer services to different cities worldwide so drones can be used to scan disaster areas to
help identify victims\\' locations quickly, organize evacuations efficiently, and save lives. Drones will be connected to a
5G network. The company is planning to offer two applications running in the cloud ?one to manage drones through
remote control while the other offers live video streaming to drone operators. As a 5G professional, you are asked what
are the network requirements for those two applications?

A. The drone control application needs very low latency to maneuver around obstacles, while the video application
would need less latency. Both applications would be running in the central cloud.

B. The drone control application needs low latency and high reliability from the network and should run in the edge
cloud. The video application needs higher throughput but it is not sensitive from the latency and reliability point of view.
It can run in a central cloud.

C. Both applications should run in the edge cloud because the drone control and video applications both require low
latency and high reliability from the network.

D. The drone control application should run through a central cloud. The video streaming application should run in the
edge cloud because it carries much data, and that is expensive to run through the central cloud.

Correct Answer: B

QUESTION 5

What is the main benefit of Cloud RAN?

A. Increased cell coverage

B. Better latency

C. Reduced cost by centralizing some radio functionalities
D. Increase radio throughput

Correct Answer: D

Reference: https://www.fujitsu.com/us/Images/CloudRANwp.pdf (4)
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